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Worksheet
PalGas Company sold $3,500,000, 8%, 10-year bonds on December 31, 2016. Interest is payable
semiannually on June 30 and December 31. The Company uses the straight-line method to amortize bond

premium or discount.
1) Assuming the bonds sold at 98,

a) Prepare the issuance entry of bonds on December 31, 2016.

b) Which interest rate is higher on the date of issuance, the market interest rate or the stated interest

rate?

¢) Use the following schedule to calculate the total dollar amount of discount or premium
amortization during the first year (6/30/17 through 12/31/17)

Interest to be Interest Discount/Premium Unamortized Bond
Date paid Expense to be Amortization Bilkcsint e Carrying
- rQljd dh N Value
12/31/2016 | 4§ $
06/30/2017
12/31/2017

d) Prepare the payment of interest and premium amortization entry of bonds on June 30, 2017.

e) Prepare the maturity entry of bonds on December 31, 2026.

f) Compute the total cost of borrowing for this bond.




2) Assuming the bonds was sold at 102.

Instructions:

a) Prepare the issuance entry of bonds on December 31, 2016.

b) Which interest rate is higher on the date of issuance, the market interest rate or the stated interest

rate?

c) Use the following schedule to calculate the total dollar amount of discount or premium
amortization during the first year (6/30/17 through 12/31/17)

Date

12/31/2016 |

Interest to be
paid

Interest
Expense to be

;?;5:’;&&}

06/30/2017

Discount/Premium

Amortization

Unamortized

Discount/Premium

Bond
Carrying
Value

12/31/2017

d) Prepare the payment of interest and premium amortization entry of bonds on June 30, 2017.

e) Prepare the maturity entry of bonds on December 31, 2026.

f) Compute the total cost of borrowing for this bond.




